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L Copy the following on OMR sheet in the space provided.

Any one who has spent time in an organizalion knows that dysfunctional behaviour
abounds. Conflict is frequently avoided.

(Read these instruclions carefully and understand them before you start answering
the question)
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2. Write your Regislration Number on the ‘Fest Booklet.
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3. Allquestions are compulsory. All questions carry equal marks.
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4. Attheright hand top of this cover-page, Booklet Series is given, Enter it in the OMR

Sheet by blackening the oval., _
OMR Sheets where Booklet Series is not entered will not be evaluated,
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5.
have to select the correct answer for each question and darken the space on OMR
sheet with the correct answer.
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6. The original copy of the OMR Sheet shall be handed over to the invigilator before
you leave the examination hall, failing which, you will be liable for disqualification
you can carry the copy with you. :

Be Dbgp e 15208 Db E0650 855 EitSi D508 EHAOBHT0. Ve BSOOBEIF 00
AbGo D OFHODEND. _
uEL Flomm }u;,r?.;_y-ragg;,:}ljfc;,,qfa_nféJr._-;:fqrd’uf_-éomu._—:w'_g.q_u;uﬁ

7. Forrough work, if any, the pages 49 to 52 of the Test Booklet may be used but not on
any part of the test booklet or OMR sheet.
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8. The candidates should not write on OMR Sheet any irrelevant matter, except the
specified items of information called for; if he does so, his OMR Sheet will not be
evaluated. ]
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9. Candidates are instructed not to bring calculator / cell phone / any other computing |
device along with them into the examination hall. 7
%R0 08P Dot SNEOE, / S P / IS HB0 Sowr Lok BoBtBVED Hhg TUss
BR0BITAER B, o |
_L[’U.'«r;.‘n:- uwugu}t)f-)-!fguﬁdw?r.)’.;.J(_.u)..-.cu:fum,gr

10. Do not help other candidates as by doing so you may reduce your chances of selection
and get disqualified.
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11, Incase of doubt, refer to english version and if there is any small variation noticed in
3 languages. English version will be considered as final.
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Each question is followed by four answer choices i.c..A, B, C and D. Out of these you
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For questions 1 - 5, choose the closest meaning of the given words.
1)  Ncpotism.

(A) Impartial (B) Neamness (C) Favoritism (D)
2) Foe
(A) Fraud (B) Enemy (C) Friend (D)

3) Imperious

{A) Distant (B) Temper (C) Tamper (D)
4) ihcit

(A) Hlecgal (B) Draw (C) Differ )
5) Oblique

(A) Straight (B) Parallel (C) Perpendicular (D)

For questions 6 - 10, choose the opposite word for the given words.

6) Shallow

(A) High (B) Deep (C) tlollow (D)
7)  Paucity

(A) Scarcity (B) Richness (C) Plenty (D)
8) Novel

(A) Traditional (B) Formal (C) Innovative (D)
9) Repel

(A) Attract (B) Continue (C) Attend (D)
10}  Acquit

(A) Lxplain (B) Releasc (C) Convict (D)

3
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For questions 11-15, choose the most effective word to fill the blank to make the
sentence meaningfully complete.

11) The government is planning to set family welfare centers for slums in
citics.
(A) (B) wup
(C) for (D) another
.
12) Thetruck was _ thetraffic and the policeman asked the driver to move off.
(A) disturbing (B) hiding
(C) obviating - (D) obstructing
13) Shec has an aversion ____ taking cven onion and garlic. ;
(A) at , (B) against
(C) with (D) to
14) | acarto be absolutely necessary these days.
(A) think (B) regard
(C) agrec (D) consider
15) 1haven’t seen you ' a week.
(A) from | (B) within
(C) for (D)) since
RLS - 13 (Set - A) 4
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For questions 16 - 20, read the following passage carcfully and answer the qucstions'
given below it.

Dance is an art form that generally refers to movement of the body, usually rhythmic
and to music, uscd as a form of expression, social interaction or presented m a spiritual or
performance setting. Gymmnastics. figure skating. and synchronized swinming arc sports
that incorporate dance, while martial arts Kata arc often compared to dances. Motion m
ordinarily inanimate objects may also be described as dances (the leaves dance in the wind).

Fyery dance no matter what style, hag something in common. [t not only involves
ﬂcxibi#ty and body movement, but also physics. If the proper physics is not taken into
consideration injurics may occur. Chorcography is the ant of creating dances. The person
who creates (i.e. chorcographs) a dance is known as the chorcographer, '

Dance has certainly been an important part of ceremony, rituals, celebrations and
entertainment since the birth of the carlicst human civilizations. Archeology delivers
trace of dance from prehistoric times such as the 9,000 ycars old Rock Shelters of
Bhimbetka painting in India and LEgyptian tomb pamting depicting dancing figures from
circa 3300 BC.

Once of the carliest structured uscs of dances may have been mn the performance
and in the telling of myths. Before the production of written Janguages dance was onc of
the methods of passing thesc stories down from gencration to generation,

16) Anart formin which pcople move . __ is called dancce.
(A) spiritually (13) rhythmically

(C) expressingly (D) humorously

17) While writing.1n a poctic mood, the writer may use the word dance to describe the

~_ of some object.

(A) movement (B) bcauty (C) rhythm (D) velocity

18) ‘T'o avoid being hurt one should consider the __ of object and its movements

while dancing.

(A) flexibility (B) style
(€) physics (D) body movement
19) Before the script of writing was produced, dance used o be-a _ {rom onc

gencration to another.

(A) mode of passing information (B) modc of passing storics
(C) mode of sharing cxpericnces (D) mode ol narrating events

20) A word in the passage which means the same as lifelessis

(A) animate (By”" unammate (C) inamimate (D) motionless

th

RLS - 13 (Sct - A)
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21) Which of the following is a prime number?

808 ane3d HEPD VoY DT ?c‘:_lJ;’/u&!zc,._/u.fJ.j@u

(A) 187 (B) 173 (C) 437 (D) 627

22) LCM of 26, 56, 104 and 182 1s

26, 56, 104 s0oafn 1820 E.0.t0 QOB'? K L.:rL,C,M_mgz,,;fé‘, 56,104
(A) 748 (B) 1274 (C) 728 ' (D) 456
12.1
=7
23)_ 198
11 7 13 11
(A) 15 ®) 3 ©) D) 3
5 15
el s e}
24) 3 of24= =X
5 15
= ciws, 24 = —x? 1592
g ¢ 7 24=x7 ¢ 2
A) 7 B) 8 | C) 15 ® =
(A) B) (© D 53

25) J17161=?

(A) 181 (B) 141 (€) 131 (D) 129

26) If the average of 40, 10, 25, 20, 35, x is 25, then the value of x is
40, 10, 25, 20, 35, X © D0 25 9008 ¥ Dend OB ?
o i ed §x7 525531640, 10,25,20,35, x

(A) 35 (B) 20 (C) 30 (D) 25

RLS - 13 (Set - A)
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28)

29)

30)

31)
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of a certain number 1s 64. Half -of the number 1s

W &~

4
28 HogH® 5 508 64 @0, B DOYPLF DKL HOBT

4
D e ST 642 5 Kuc._._fl

(A) 40 (B) 80 (C) 16 By 32
$5

A 21l B 3l ' D 5l
(A) 215 ® 35 © (D) 5

If the side of a square is increased by 25%, then its area is increased by

8o <SBOSRHED A0, gHEY 25% HODB, TR PFI0 DOB DUNDHBOD 7
ST LS LD Pl x25% EKE L1
(A) 40.5% (B) 55% ©) 25% (D) 56.25%

Ajay sold a cycle for Rs. 680, losing 15%. The cost price of cycleisRs.
D205 2.8 PBE 680 KRIODHO BV, 15% SEpY A0DE, & PBS 5% B HoBT (KRJADL)

s red STt Sass) e ss6808 L Ll 15% ST Lz
(A) 782 (B) 800 (C) 760 (D) 820

IfA:B=2:3andB:C=4:5thenA:B . C=7
A B=2:35000mwB: C=4:58008A:B:C 0087

{nETA:B:CInB:C=4:5, A:B=2:3/1

(A) 2:3:5 (B) 2:4:5 (C) 8:12:15 (D) 2:12:15
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32)

33)

35)
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[f 12 men or 18 women can do a piece of work in 14 days, how long will 8 men ar
16 women take to finish the work? (in days)

12 5008 ghapes Soe 18 08 e &8 HOD 14 588 Tanesem. 8 08 O)HTnen oo
16 508 few 973 HOD DY S%erdd e B ?

Ly SIS S p l@JJJ/S/rb/Jf‘uFZ./J‘[(j:UJ]4!"’((_?&,&:/3’ISEJ/‘]Z/
(A) 9 (B) 14 () 12 (D) 10

"A’can do a picce of work in 8 hours while ‘B’ alone can doitin 12 hours. Both A
and ‘B’ working together can finish the work in how many hours?

A &8 DD 8 o, B od £00 12 Sotrdl Janpesdad, A, B en CoOGER BOY &3 DD o

508658 o) -3@3(5_) ? |

u?"fgﬂuiunum_+b/J‘(u:ur“flzfrwwaur‘Lt/‘fu:uﬁfsfrh{m
oLy S

4 ' |
(A) 43 (B) 4 _ (C) 10 (D) 5;1_

A tap can {ill a tank in 8 hours and another tap can’empty it in 16 hours. If both the
taps arc open, the time taken to fill the tank will be —_ hours.

28 HOPY) 28 33,0800 8 5068 DODBEIOD. K578 Hog) el e080 16 (0@l 2008 Buoa.

S0t DYV 880 BOY, & WOH 1Y okl DokBIH?
jv\.{u’Ju)uﬁ-.‘;CC/duc.:u:u}“/lﬁ S et £ LU 8BS L
S A LU E 2 s

(A) 24 (B) 8 ) 16 (D) 10

A man riding his bicycle covers 150 meters in 25 scconds. What is his speed in
kilometer/hour?
8 ;8 P85 150 Doty (o 25 DB SLEOAB, 08 5o Kot of 60wy ?

?Jnﬁﬁéf;b’(};f:‘;(,(w?;..v/é_u:;‘;_ﬁzs,wb’/’f1504‘}?‘)"”4;
(A) 23 (B) 25 (©) 20 D) 216

RLS - 13 (Set - A) A
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36)

37)

38)

39)

40)
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A tram 132 m long passes an electric pole in 6 scconds. The speed of the train in

kmph is
132 S0ty G B0 &8 oo &8 HOFE Qoang 6 VE0F KB, & Fed 5w Kot S|

be‘)“se‘i)oeadj 7

wéy/%.»_fJd;v/Ju/yc_dLLu*,uﬁ()/Jd/uﬁ < - /132fu/J:
(A) 80 (B) 792 (Cy 72 Dy 70

A certam sum is invested on simple interest. 1f it becomes three times in 10 years,
what is the rate of interest?

8208 Swweg) ptdBGES Dipnd HEO BOROE, KO VODECS 8 FvBo KK Towd, Hb
Bt D0 ? : ‘
,Jnd"/,yc;?q_dwu@fﬂ s 101t 6/ ,/?mz,;d,f’f’v_ﬁ

(A) 25% (BB) 20% (C) 22% (D) 18%
A sum becomes Rs. 2,916 in 2 years at 8% per annum compound interest. The sum

is_ (inRs)
5208 3080 8% Dedioe Y B Bewd? 2 wosBoee 2,916 KRHahen Wond, o 30580 2087

(Crdoane®) e
J’fu‘/f L}Jl)'Ldb)"(_..!lz916MJV2C-VV£~U[/J/)}’C/8%Hth'
(A) 2560 (B) 2750 ) 2625 (D) 2500

The arca of a rectangle is 12 sq. meters and its length is 3 times that of its width.
What 1s the perimeter of the rectangle? (in meters)
28 E’Scﬁ BEEZO Aoty Bueeo 12 S556E) ety oo DD Dsents furth Bhond E)o’

DEEDO SotnEB wWoB 7 ()
O SANT o w:ﬂu’_%KJu;;waJJun.;_j{d/12,}%&&“»{!
(A) 14 (3) 24 (C) 16 (D) 18

The total surface arca of a cube is 600 cm? The length of its diagonal is __meters.
8 QURNED Ay HOPPGBe GaeaEn 600 SR POBHIE. oD ELED MED) D0 ?

(Loeageh). ) ) ]
AR EGIHE 1 257 8 60301 ¥ o

. 10
(A) !()\/E {133 ](_)\/5 () 5\/2 (1) T[%:

13 1Set-A)
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41) A student has to obtain 40% of the total marks to pass in the exam. He £¢
marks and failed by 80 marks. The total marks in the cxam are

&5 DY 28 DOFS SHDESLPDS A0HO St 40% S7eti,en FoLrd. @8 220 &
00, BO STEReN B 90 HOD GEHS OO ST Y, 6 DO Boso Byes

Lrl St BN Bt S b ta0%m LU Z L Qb F
Cr &t L LU I e b Kt e

(A) 800 (B) 750 (C) 700 (D) 900

42) If sclling price of an article is 3 of its cost price, the profit/loss tri this transact

2
28 HRPY 008, @R0D Jo 5 S < B Hod @oE, Kz DEB0OBS FoB eeas/DY

' 2 - - - »
QOB ? _fnﬁuw/dwqjﬁul?ng Karodoms,jod (2
(A) ()6%% Loss / &go / o1 (B) 33%% Profit / erzio / Cf
(C) 66—?—% Profit/ oo / & (D) 33%% Loss / 50 / L&

43) Satyaslarts business with Rs. 5,000 and after 4 months, Subhash joins with Sat
' his partner. After a year, the profit is divided in the ratio 2 © | rcspcctlvcly Wl
Subhash’s contribution in the capital? (in Rs.)

25 aRERoY B, 5,000 ERaraHe DEPOEST FBoPoBR. DD oo Brhaes e
EPBOH g7t5I0A000 . RODBO0BHORH B 878, TOHHE Ko 2 : 1 &
HOTHEYRE008, KRR OB HEPDE DeRE>? (B3eanéf)
/(’édl./ c_t'/J/Jﬁr,u’aLzb r;_t'/CJ/JLJJKc_,.,L/c_uSOOOf]t'.
O K T LS e L2107
(A) 3600 (B) 3700 (C) 3750 (D) 3800
44) A can finish a work in 20 days, ‘B’ in 30 days and ‘C’ in 12 days. ‘A’ and

started the work, but are forced to leave after 5 days. In how many days, ‘C’ a
can f{inish the remaining work?

25000 ‘A, 20 %8, ‘B’, 30 655?@5 sopasn ‘C, 12 6%ef Hre Sahde. ‘A’ foe
B o5 DI DB0D0DD 5 Glave) HLHHB DODHHED DD ARD SAOBO BOB. &35@36.5
20687 ‘C‘- D) B%erel Hpe BanrotH ?
CJ/(K/EBJJIA_._.?/J(JUJ12}((50 11 9300 P ¥ 5 1B s 20/ KL
K SF R EGC T A3 e S
(A) 7 B) 6 (C) 8 (D) 5
RLS - 13 (Set - A) 1o
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ot 220 )

RAnen
) o)"j? . a8 (PO 208 5ethad Eﬁac‘risa“)go 1 50835 GPoBDOD T 5065 G0 8.80e S50H° &8 BERCROD
‘u,} DT, FODI0 2 oL B EPOBPOBDABID VROODER @8 FHw H0P 80
j
t - 3.8 Sc508f Bowda Of) tote HEDADLOS? T FRoD BSOS ?
&
% UG{IC,D’_’J)] Lt/J/L.JdPC’JL’)J//}KwJ(}p KZ_JI/’J)J:’JJ
JJJ}(J::JIJ:'J{JL:J’%UU/%LJU JJ/{IKSOJO{J{(/Y‘ u’g{fﬁ;ué_u
. - JF_ L/..? I
ion is _ \ .
(A) 3.30p.m. (B) 4pm, (C) 5Spm. (D) 6p.m.
Toeh0 "
A " log~/5 _
) log5
1 1 ' 1
W) T0ads B T (©) logsV5 D)
47) The sides of a rectangular field are in the ratio 3 : 4. If the are4 of the field is 10,800
aas : -y o
it s sq.m, the cost of fencing the field at the rate of Rs. 10 per meter is : (in Rupees)
8 OF SHEFPSRCD) PO 0, 28, Stseen 3: 4 DB G000, &8 OB 3N, JTeE0
3 e 10,800 <5¢5855) £0&OE00B, 208 LB 1.0 BRRaDHO TS, @ PO wotap BOB JoHERS
965 DOB PIHE0O ? (ERPRAHE?)
s JJJJJWL/ 8 .,108005 801 Ne 314 EXE UL J’J“"J’
:/’ ' (U"Ufu) (J’L‘rb]y/ua“'fﬂc_-uw/d
g (A) 5600 (B) 4200 (C) 3500 (D) 6300
3 48) Thc area of a rhombus is 384 cmm?. The length of one of its diagonals is 32 cm. The
1 length of the other diagonal is : (in_cm)
&8 05 SHCEHN IS, PaoeHn 384 SEGE) DOSHIBL, 88 BTHD CIVE, &) 32 0.5
» 9008, BoGS BEH0 (308, MED 208? (0t Hoeoge?)
:D -, - ‘.' ’ - 1 3 -
-JﬁdeLf)J}’é—/ljjﬂ%u“f32dg’jJ/Jug]£u’j_‘¢_f-{J::d/384.{'lb/drl;,-f’
(A) 24 (B) 36 (C) 18 (D) 48
RLS - 13 (Set - A) 1
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A thief steals a car at 1 p.m. and drives it at 60 kmph on a highway. The thefi is
noticed at 2 p.m. and the police immediately started chasing him on a bike at 80
kmph. When will the police overtake the thief?
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49)

50)

51)

52)

53)

54)
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The height of a circular cylinder is 14 cm and its curved surface is 704 sq.cm. Then
its volume is : (in cm?)
28 Bse58) KDSE{J&')D 03wE) ) 14 0. oo D D5 B0 ST0 704 WS 2oed
Do62¢50008 R i DOBTRO DOB? (05 2065 Eotssd)
,Jnd"/_—/B"JJI?n/'fob‘:{@/‘iOMKp?d;/;.m/’{d‘f 14JL;/'11J;UHL5:/’JJ,_(1
(A) 5632 (B) 2816 (C) 1408 (D) 9856

What is the standard Deviation of the following?
208 579¢3 BI0HSOH0 OB 7

10, 20, 30, 40

(A) 25 (B) 100 (€C) 545 (D) 1045

¥yl 1 A 1S b 3T

Find out the correct number in the place of 7’

808 3t ‘7’ e @géosﬁs BOEBOD VIS Do DO ?

5760, 960, 7, 48, 16, 8 CFE A bt 5l LT LT 9 Jir S 50
(A} 240 (B) 192 (C) 160 (D) 120

Find out the correct fraction in the place of 7’
goey Fe3e® 7’ S0 Apisod® SOTROD HPH Vo HO T .
2 3 4 5 6 .~§d‘ilﬁJ/é'dué—f-f?d"?’ulﬁélruid,ién

75 5’5\/5'25’":"2"5"\7_5’?
RN 71 7 7
(A S/ B) iz (C) o5 D) T3 NG

Find out the appropriate term in place of “?”

808 Fe3es® “ 7 &Y @35’)0&‘35 SO HTD DY BEH0E 7

AYD, BVF, DRH, ?, KGL -5 28 ST =100 3T 87 gt Jir g 5822
(A) FMI (B GLJ (C) HLK (D) GMIJ

In the following series find the term in place of 7’

805 coDS FBS® 77 63 ARDHOS? BoERDS HHY) B6%08.

AZY. BUT, CXW, DWV, ? GBSl T LSS dir iy o St
(A) VUE (B) EVU (C) VEU (D) EVA

RLS - 13 (Set - A) 12
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‘hlen. '55) “Bread” is related to  wiWSPHRNGANCARN LOM ek is related to .

boes

sl

-

4J

[

56)

57)

58)

59)

(A) Clay (B) Building (C) Cuboid (D) Fire
8&, G305 DODOHODBENTR, RS BDE HOBOHODOD ?
(A) w08 (B) o905 (©) Beggomaw (D) ot
Kne S e S cud P L
ST o) £ © =M (B) FSE @A)

There are four words given in the following, Three of them are alike in some manner.
Find out the odd one from the following?

(A} Guitar (B) Sitar (C) Flute (D) Violin
808 TPeuH> Drrey RPRWoW. T3S Saed BT a8 DovoBo KO &aRow. Toede
BD0DLHAND O BnE5,06.

(A) Berd (B) 286 (C) o365 (D) H5AB0OS
8 uie 3 S Lo 3oL S UE G L Ly LS
S (D) S © S (B) A (A

If GO =32, SHE = 49, then SOME will be equal to
GO = 32 svoaxw SHE = 49 wond SOME 398 vanso?
€530+ L SOMEY » SHE = 49 151GO = 32./1

(A) 64 (B) 62 (C) 58 (D) 56
In the numbers from 100 to 1000, how many times digit 1 comes at the ten’s place?
100 0086 1000 S55 Ko K)oa_gse)ef DO PHoS 1 o DORDY?

Ko I'JJ.L);(/Mb/l{rli'»cf. (jpu:urﬁf\.fIO(X)a, 100
(A) 90 (B) 100 (C) 10~ (D) 9
If October 8, 2013 is Tuesday, then 1st January 2015 will be L
8 @835, 2013 SHOHYIPE0 YONB 1 BHDD, 2015 HEVHBO0E) ?

s ST 20158. 52 107 e o8 Jo $2013.4 2181

(A) Friday / sogaeto / »2 (B) Wednesday / entsantso /2 Az
(C) Thursday / cooantso / o1 (D) Saturday / d0aeso / =,
RLS - 13 (Set - A) B3
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60)

61)

62)

RLS - 13 (Set - A)

In the followin‘é’%lflacksé\.@gﬁj?ﬁt}%e(}grf‘ollow a certain trend row-wise or column

wise. Find out the missing number (?)
8065 owaS HROG® 52 Hogen CVHMEOY. B VLY S BFOP 58 &8 (;3562533
DXRORRCW. HOBVSE BHDFOND DO (7) O E0ES08.
_ufgzdyf:cb_auéJULL_.,UL()K)IJM'LJ:A;{{_JQ:JJ
LSBT Byl iy

1 4 ?
4 5
2 2 3
49 64 169
(A) 6 (B) 5 (C) 4 (D) 3

In the given figure, numbers follow a similar pattern, find out the missing number
.
808 a0B@ED HEOB, FOH HOY, &8 BB HIBBD SEOVOW|ADH 3RH0D BRE0S DO

(70 sxnﬁ%o&,
Ll TS rud yyr ot ua,mné,m JerL s s Ahd it

~56*UJ::—M
12 170 16\/ \18
6 | 8 7
(A) 18 (B) 6 (C) 12 (D) 9

In the following series, one number is wrong. Find out the wrong term.
8005 00 QR FBS 28 DO, B, aNBECD. 8 VoYY, DOT

5,27, 61, 122, 213, 340, 509 :
“UU L;Cﬂb"wu’f LU’LJ&,/MJIL/‘//J’;C,H

(A) 61 (B) 509 (Cy 29 (D) 122

14
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63) In the following scries, Find out the letters.in place of ?
8ots o0 Fr3e® 7 eisod SO BFoeen H?

é ac?cab?baca?aba?acac
“ ..:c,{fﬁjwJ..J]LI!LT-.;L;"?'Ulﬁ._!lfg;'{/{gZE(gn
(A) acbe (B) babb (C) bcbb (D) aacb
64) Pen is to poet as needle is to
(A) thread QB’)/ tailor (C)} button (D) sewing
DRI BHEF HowOGo Sk, HnOES ot aress B8 DOLOLSO GOBT '
(A) weto (B) @eob (C) eood (D) ®ito
HnaEdiend Wrice redF vy
do ¢ (© Y @®) Sos @A)

65) The angle between minute hand and the hour hand of clock when the time is 4.20 is

4 5080 20 DEVPVL SEARB0SED ot S0ERED, DELEP B Bogitio 530 Do ?
K YL er&uler’&'[.d)szoﬁ4
(A) 10° (B) 5° (€) 20° D) 15°

66) Today is Monday, after 61 days it will b -
s 5% DFB0aRG0 s, 61 S0 BtHes D 6% ©HBo0O 7

(A) Wednesday / extsanto (B) Thursday / cothswto
(€Y Tuesday / sootsgantso (D) Saturday / sDsetso
sV w5613 ¥ 50T
s (D) L o et ® RN

67) Find the missing number in the following,

&o8 52eJe BRHDFoS (7) 08D B085,08.

~FEG Bl T L8 98 i ot St

3 7 1
- L6 |25 g 1t |70 3 4 |12 5 |
o/
[ : ‘-’
(A) 10 (B) 1 €) 2 D) 6
Ta . ) A8 15
RLS - 13 (Set, A) % #,
&\b‘\ N
N e
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69)
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Based on the given two statements below identify appropriate conclusion which
logically follows the statements :
Statements _

Some kings are queens. All queens are beautiful,
(A) All kings are beautiful
(B) All queens are kings
(C) All beautiful are kings
(D) None of these

Qaﬁt‘ﬁai‘oen d

5208 5D0E) Tearen ToRIRD. BOGKD TRrdED WOLSHBED.
(A) ceroostn BOSRED,

(B) oreweosun oeeven
(€) ®otsors & Tt oheren .,E.{JH.;?'u;)r{JBJahguéé)debu

(D) S)S)sada. "
, B W TRy R

' bt bed (B) Ut sl (A)
U:‘;J—'(U:U’ o). - L{a’a@ﬂ,a;y‘-’.}(ﬁ (C)

Based on the given five figures, marked as 1, 2, 3, 4 and 5 identify appropriate
answer figure from A, B, C and D, which will continue the same series established

by the five figures. | o B
806 angS 5 Dhved 1, 2, 3, 4 Fooaty 58° WHowHS G50, A, B, C sopam D e
DRI oS HDEoVD DERLTERY, HEDH DHEBWOL E¥S5TB0H T GO 00508,
D.stA, B,CJ&1d12 0.t L £ 55.11,2 3 ,4db/}|.,}lr-£”a:_,)ufdjfyu
_{Mt/ll);f'{{c:.u;f

L . 1

1 2 3 4 5

(A) L (B) L

(€) D)

16
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70) A and B are married couple. X and Y are brothers. X is the brother of A. How is Y
related to B?

{A) DBrother (B) Brother-in-law

(C) Cousin - (D) Nong of these

A ®eam B en daeins sot. X sooatn Y en 28t X, A d3ng, TS, Y, B 8

Do) ?

(A) s (B) erd

(C) 5285 (D) &=y

_(nlf;ﬁJb’B;,rY-c.(jlp.‘b/AJ/:’.X;LJ_?Jb‘fU’;”YJ"X-‘;'—IJ’?"‘;J’&B“'A.

A ek © ol © Fox ® Ju  »

71) In a certain code ‘INACTIVE’ is written as ‘VITCANIE’. How is COMPUTER
wrlttcn in the same code?

e:8 855G grd® ‘INACTIVE,’ & “VITCANIE’  ood), 0% §56¢6* COMPUTER & wer

oARED 7

Lyl A u/:(COMPUTER’:’(_ W0 VITCANIEY INACTIVE' =S £ 3/ {1
(A) ETUPMOCR (B) UTEPMOCR
(C) PMOCRETU (D) MOCPETUR

72) From the following four different positions of the same dice, find the number on
the face opposite the face showing 6.

805 00 meenth APOE ohive S0, 65 BPH0om 6 BOPOP 6 WOBD ER1AH0G,

AL VTN PP I (Y2 STy T LIS A L SR TR AT-19 3 TP

SO

(A) 5 (B) 2 D) 4

RLS - 13 (Set - A) 17
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73) How many triangles are there in the following figure?

8085 oS HEOSS DY Baenen GaRon?

?U:wguttﬁdibu

(A) 17 _ (By 11
© 15 | | (D) 13
74) Haemoglobin : Iron : Chlorophyll : ?
(A) Cobalt (B) Calcium
(C) Magnesium : (D) Copper
. IRaIS: 0US 55655 7
(A) S%eng . (B) sa@dmo
- (C) BbA%an D 06 I
© én} ° (B s 5 :J’:n{::u}f:uﬁrb’ﬂ
¥ ® = © ~ ® A
75) Line : Square : : Arc : ? | -
(A). Ball : (B) Circle (C) Sphere (D) Ring
éa):t‘ﬁéi)b‘é)o::méo: ? 7
(A) @08 {B) swo (C) &% (D) seoavo
_ :JJT::}IFHJU
SH o h© b @) @y
76) Pituitary : Brain : Thymus - ?
(A) Throat (B) Spinal Cord  (C) Liver (D) Chest
DERE : Foesesd : PdoRy 1 7
(A) 6&oom (B) SFDH0E (C)  sedonawn (D) o8
¢ :L/Jb; ::f.,l.):d/.".r_ﬁ
o (D) £ O iy ® & @)
RLS -13 (Set - A) 5
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77) England is related to Atlantic ocean in the same way as Greenland is related to
(A) Arctic ocean (B) Atlantic ocean
(C) Antarctic occan (D) Pacific ocean

R0F0EE BER0E b HBVPRS G5 VOO €20 HOVOLO ASeroks 308°% Got?
(A) 0,385 S8 DD (B) eoep0e36 s058 Hdango
(C) @036 oo dEwGoe (D) 235 £0ds DH0Ho

_frc_u/uw(ﬂdfb)dlﬂc.cu‘ib:l/‘fK.uﬁf
S @ ek (© J;y,r/. B LT (A)

For questions 78-79; four words have been given out of which three are alike in
some manner, While the fourth one is different. Choose the odd one.

Oife 78 008 79 HBE; B0t 00D 5D TRt Hewd® Hureth Hueew DEF 2.8 BSorP HoDOERY
508 é‘,abw gD ¢S50 HrBo Pgoe 608, Pore &3 DY B506P006.

:{wuc.w/.ﬁmwww u’Ju“cfc...;qubu"dlr(79nl78 = bia)

78) (A) Metre/ dobto> - (B) Acre / 850
(C) Furlong / ®oeotH (D) Mile / oew ,
K O £} © A ® VRS
79) (A) Tolstoy / erdead ' (B) Tagore / oots»b
(C) Ghalib /- codex (D) Keats/8e§
N b (© A @) &

80) Ina certain code, “SWITCH” is written as “TVISDG”, Which word would be written
as “CQFZE” in the same code?

&8 598 grne® “SWITCH” © “TVISDG” mo ooxy 03 §3&&° ) ol “CQFZE”#d

o030 7
Lo U E L ocQRzE 39 g 20 TVISDGY "SWITCH &5 £ 3/ L
(A) BRAED (B) BARED (C) BREAD (D) BRADE

81) If ‘MINERAL is written as “QRSTUVW?” and ‘SOUND" is written as “ABCSD”,
then how will ‘READER’ be written in the same code?

‘MINERAL’ & “QRSTUVW” t» ooy, ‘SOUND’ ® “ABCSD” e 0o, 08 B56¢3
‘READER’® &30 0oa3oe)? '

_Lu /3/f READER Yt 20"ABCSD"Y SOUND. s "QRSTUVW' /' MINERAL'/1
(A) TUDVUT (B) QDZCDQ (C) SBFEFS (D) UTVDTU

RLS - 13 (Set - A) B
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82) If DELHMI s coded as 73541 and CALCU'I"I’A as 82589662, how can CALICUT be
coded?

DELHI ® 73541 2 656 3%, CALCUTTA & 82589662 858 339 CALICU T S50
536 JaBsn? .

Ly 3V CALICUTS U 2 /34 82589662/ CALCUTTA /51735415 DELHL!
(A) 5978213 (B) 8251896 (C) 8543691 (D) 5279431

83) Pointing towards Rita, Ravi said, “I am the only son of her mother’s son”. How is
Rita related to Ravi?

Sexd SmBRR 58 0w B, “F0 BFh B L, HERWDES HIE LENEHED™ Sew, 503

DEOHBOL 7
(A) Niece / Sussten (B) Mother / 59
(C) Cousin/ 825 (D) Aunt/ soed _
LIl s57 S Unteb S LU SIE" S e tf rstanZ S p e
| -y
&1 o) v’ (© Ut (B) Fu @

84) Aand B are brothers. C and D are sisters. A’s son is D’s brother. How is B related to
I’.C,? *
A s0o0 B ev d86then. C sooatn D en 98¢&snmoen. A Ao, BdnthHid D 8 S
B, C 8 Hsogymets? .o

(A) Uncle / 9o ' (B) Brother / 55
(C) Father / $o3 (D) Grand Father / s,
<N l;‘/;ﬁJb/CulB_c;..JHb’Db’}'b’A-g,{_fui."ruﬁuDulC-ujJlﬂ.’u:’»BulA
by (D) s © du ® Fi @)
®
Q)j*s o\
RLS - 13 (Set - A) 20
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Questions 85 to 88 : Read the following information carefully and answer the
questions given below.

There is a group of five persons - P, Q, R, § and T. One of them is a doctor, one is an
engineer, one is a professor, one is a manager and one is a psychologist. Three of them; P,
R and psychologist prefer tea to coffee and two of them Q and the professor prefer coffee
to tea. The manager, S and P are friends to one another best two of them prefer coffee to
tea. The doctor is R’s brother.

Qo0 85 Hood 88 FEK : §od RBRRoY S(IEM SO, PO §o& oWS0ES YL
DBREPTROS,08. e _
P, Q, R, S dvoatm T eo etorwsd B 28 HoRY) P SRR, TOH 28D WS, &5 Roadw,
28D PoaidB, ex8eh et Hoaty w8 Py, o Sorhm: P, R sopak DS0BY 5o
5083 630 angptsERdD. eoes RES0: Q £000%0 DG ¢ Z0es 500 CFDEBRD. HJB6, S Koo
P o0 ntonn, 0 206° agn & 506 2H0 avgstms. mgb, R oo, 9565650t.
~Ee Wl ey £E e e iF fulk LSt (88085 felia)
Lise ﬁ.{lc/-.':’,{;.{l:;:.‘?’lu{l«}’/l:‘..{luﬂ'u]_r‘_’....,{J/Lflb{Jl)lél;TulP, QRS
:(G K/é:{JQIQu;:Jz:I_q’?@.Jé}{L.}(JKLEKM:’Q L')JerPufu:ul..M)’@lr
-uj?:__)é/".gi_&fd Ku:’uufwujuuﬁ"ﬁ@/:)..QP/:IS:ﬁf~uj§,:é}{Lg

—e SUkRS 25
85) Who is the doctor?
TR IS ? Peud s
(A) Q (B) T (O P (D) S
86) Who 1s the lilanager?
Db it ? fe g &
(A) Q (B) P © T (D) R

87} Which of the following person, who likes tea but is not a psychologist?
ot 00 & 5B 60 cngEetD, o PSPOBKY S 7

e et f et e pre FUS Lo

(A) T B) S () P D Q

88) Who is an Engineer?
RoaDHE DS 7 : ?‘auf}':.‘-;l
(A) S B) R Q0 D) T

RLS - 13 (Set - A) 21
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89) Soujanya walks 14 ?ﬁet%réet%%z?ré%nw%%rt? then turns to her right and walks 14 meters

and then turns to her left and walks 10 meters. Again turning to her left she walks
14 meters. What is the shortest distance (in meters) between her starting point and
the present position? |

R 14 oty DSOS DB BED, BLhed B:5 K8 HE,B BOB 14 Hotrf) BEDH BLHas,

B DB DEE BOB 10 Qb HED. eﬁa% B9 DB DHD 80H 14 QoW HED. B
D80 &8 HBFo, pobenBod Foso Hob oY Hotd $05 Bntod’ Go?

-0

e GF 2100 e LA GRS e e §F K e S P L
KT hob e b L e $ILat L Jlea G5 14 e LG A

(A) 28 (B) 38 (C) 10 (D) 24

90) In a party both fish and meat were served. Some took only fish and some only meat.
There were some vegetarians who did not accept cither. The rest took both fish and
meat. Which of the following diagrams correctly reflect this situation?

28 2SR Jen SO0 HRODHN HFOREOD. E208H08 B gD 6%, H008%08
B0 BP0 PP BB TR, E208H0L FegRIiHen. §8 Botke 85 S, DBDS T
BHen, HRoDE, BorkTe B0, BoB) e3¢5 & Hroso cave DRSO POBOT BIDH W08 ?

-ic:ﬂ;f...j/-.f)a{»fd{d/é_u:(:’n{-{lfgl;c:.o;fuid‘fu:;f)up
2SN TP Fan e NS U2 Ll S K S o SV E L
- _U'fd/(ﬁﬁ{fjé‘J:fUd..:(u:J.)'@u..édbplu:;u .

(A) ) (B)

(C) O (D)

O

RLS - 13 (Set - A) 2

www.sakshieducation.com




www.sakshieducation.com

91) In the following figure, the boys who are athlets and disciplined are indicated by

92)

93)

which number? (The triangle represents girls, the circle athlets, the rectangle boys
and the square disciplined).

£08 D&BS, E08grs B ere ©PH0 & R0, HRD0D 7 BFdE0 eRHELD, HBO SRLD,
&Y SHB0 aRentD HOCK) SHSHO ES085m0 D70R008.

_g,ygmu:):xlu(/;ﬁ};;ng;@yd::ﬂ}:’"ﬁ&ﬂ:d;ﬁ@iau

((J.?Z—/(Jﬁ’l/.J\:{.;‘/J‘d/l!fd/u.f(y#/‘d’ulfl.uiijlh(!f;VJUJ[}‘C.L?E‘)

10
7

9
523 2
4 ™

(A) 6 ®) 10 ©) 1 (DY "2
Arrange the given words in the sequence in which they occur in the dictionary and
then choose the correct sequence. -

2085 00D Do G556 Bi0s® eeBHR B3 HFH HEHED K808,
LSS S Ta s I LE S 5t

1. QUALIFY 2.  QUARTER
3. QUARREL 4. QUAVER -
(A) 1,4,2,3 (B) 1,3,2,4
(C) 1,3,4,2 (D) 1,4,3,2

Abhi was born on March 6, 1993, The same year India’s Independence day was
celebrated on Sunday. On which day was Abhi born?

©g) G B0, 19935 a,0Bi. e ROBBLSO gors z'{)aaséog*s-%aio BOTSO 7RG BEHHE0E, D

& 6% 83,0508 7

(A) Saturday / $ans0o (B) Fnday / «ogmet0
(C) Monday / &¥soanto (D) Sunday / e&yseso
_J!rL-JJJ(JJ’U_..;JE-_L.la?Q’Ll?d:ljfr.ﬂf;l;IJL«JI,!M‘I&II%I&@J%&r
A9 (D) 2z © -7 (B) i (A)
RLS - 13 (Set - A) 3
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94) If A stands for +, B stands for —, C stands for x, then the value of (10C4)A (4C4)B6
Is .
AD+m Bo-m C8 x anod, (10C4) A (4C4)B6 Densd wois? -
€l o A KI0CHABCHBE T et S U X S2Cosi - S 2Bt + 2 A
(A) 46 (B) 60 (C) 50 (D) 56

95) Find the correct number in place of *?’
808 HLoe® 7’ RRBOS? GO DD DO HB?

..(L_T)/is-fj.’u;.;d/ g0l Jlrgﬂyd/d':bu

(A) 233 - (B) 213 (C) 208 (D) 223

96) In the following figures, a set of figures carrying certain numbers is given. Assuming
that the numbers in each set follow a similar pattern, ﬁnd the missing number in
place of ?

015 0205 Hewel, e Hero B8 528 ©08en /Hom,e0 5O SRROD. 8 GO HERED @oBen/

ROgEn &8 erotd Hoaotso 58 &0300808°%0, 7 @3?{)0(:‘5'5 ésom&)?ﬁ DO BTPH06.

H_-T,.GL(? W Ji e u‘éz._i Vc-n:../uu(l?u’cfd_)._fL:lﬁlu’dh//ld/d;bu
2 6 s EEaEwE Ly

JOINENIO IO}
6 4 '

|
(A) 8 - (B) 5 © 7 (D) 6

97) Find the number of triangles in the following figure.
8065 oS DO DY BRdeRes drRow? Essw el LSt

N
A) 19 (B) 23 (C) 21 (D) 10
RL$ - 13 (Set - A) H
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98) A cube whose two adjacent faces are coloured 1s cut into 64 identical small cubes.
How many of these small cubes are not coloured at all?

8 Z0050 A Boths BED Gy BEPLD BotD 3D, 64 PERDEI00H DY 0BT
EEDOSDEH). 5703658 wden SoHBoDaE susHven O EoH 7 |
(U FL AT L A LL 2L 1 £ g p 3 Ui Lo L
’ . et L
(A) 24 (B) 36 (C) 48 (D) 60

99) At what time between 5:30 and 6 will the hands of a clock be at right angles?

5 . ;

(A) 43ﬁ minutes past 5 (B) 40 minutes past 5
7 . ;

(®) 43ﬁ minutes past 5 (D) 45 minutes past 5

5:30 E0OOD 6 oLV EES, DD Bokd S0g) K45 ©00E%0 $otoe ?

5
(A) 5 tose 431—1— 2. (B) s ot 40 2.
7
(C) 5 Gotse 43ﬁ D, (D) 5 ote a5 .
_L{a‘Lﬂ{::l)gj:/b.ffi.blﬁd}'{ukuéé&sﬁ:_30
5
124045 (B) BT Es @)
7
(erd5f5 (D) B ©

100) ‘As per planning commission of India, which was the fastest growing state during
2006 to 2010.

(A) Kerala ~(B) Bihar (C) Gujarat (D) Maharashtra

2006-20100 8055, gREE HIPBE HOFO HSO BB.08 B0 DY) BOODS Tego HEO?
+ N

(A) Boy (B) 256 (C) Haoces (D) BogTo
ce 8 et S e af £ P BL 36 s sl 5L 20062010
I}'ul,g (D) _-A/.f ) A2 (B) ' U.l[ (A)
RLS - 13 (Set - A) 25
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101) Justice Varma commitice; constituted in December, 2012 to suggest amendments to
Criminal laws related to
(A) Terrorism (B) Corruption
(C) Domestic Violence (D) Sexual Violence
&R0wb, 20126° Hotw BoDAD 8] IS, 5, 58065 DB S0 H @00 Ho2OYOD
RRCEIORD IR DODO 7
(A) &faeso (B) oos6r0s880
(C) ¢p8m 3rod - (D) 8ofs 8rod

JJJJWJUJ’G(’]JLJ’L./{/J/;"'JJ:‘.:UJ’T.JJJ‘)J(ZOIZ/J
dw;u"’ (D) .-FJL')L/‘J’ ©) . dbests (B) sletes (A

102) National commission for minoritics celebrates Minority nghts Day on which of
the following day?

JA) 18 December (B) 19 December
(C) 20 December (D) 21 December
o P 808 Paroiis e HSTEY dD,t BHHBOR ?
(A) &oeb 18 (B) &rowd 19
(C) &ob 20 - (D) &Jo@b 21
Ce bl u:g/’u‘JJCJJ M”’U"b 'G’/UJKU"’ ri
A1 ) A3 © A ®) A @
103) Which of the following countries launched a long-range rocket Unha-3 in December
20127 '
(A) South Korea /(ﬁ) North Korea
(C) Japan (D} China
&oos 2012¢° Unha-3 o erob Sos 028650 & ddo Haindowon ?
(A) SEe BP0 (B) &85 Soam
© a;@afs D) B>
el MU 8 FYUnha30t 20124 3
vt (D) b (©  LIUE ® LIUR (A
RLS - 13 (Set - A) 26
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104) Lionel Messi 1s identified with, which of the following?

(A) Swimming (B) Golf
(@7 Foot ball (D) Tennis
D3RS F0dy, E0O i3S D Botiod® (hHnowy BON &R ?
(A) 500,06 (B) &
(C) Deerd (D) 8"
| ?%V@U‘g&ﬂujwd.jbi’f&(’f!
| oo Jied (© 3 (B AN

105) Which of the following states has decided to observe the year 2013 as Information
Techno]ogy Empowerment year? .
(A) Madhya Pradesh (B) Gujarat

(€f Tamilnadu (D) Karnataka
808 T3S D m@o 2013 HODETY adsgnd B304 B BHO0RH VOBBBOT SpBoireod
g0 ? ' |
(A) 065, 03S (B) tHzoed
€) st (D) Soaws
_.gul/"JVK&A'V_ld)’tfﬁ;@I:(ZOISJ‘VL.Q/L;JKL}:JJGH
S O ke (© ..:vl; (B) Fogums (A

106) Whois the Pakistan’s caretaker Prime Minister, appointed till new National Assembly -
elections to be held in May, 20137 |
(A) Reham Sehari
87" Sarfuddin Khan
(C) Mir Hazar Khan Khoso
(D) Justice lftiqar Mohammed Chaudhari

%5 2013685 SRBES BR0Y DRYELD 2OBHEE, NEPD Bodd B8HEY, HEH B0

DODRODOEDD FD? | |

(A) Tndo 280

(B) ‘6)63)@5 2R

(C) 505 sneb 32d ERE )

(D) @R apsd Sosrd, S50 ' -

e -ﬁl-z.f'l{}:u!f/‘fjuﬂgtjﬂldﬂd?A_l,i_n,ﬁ*"uizowf
| Yo DS (B) Sobr e (A

$ iz BT (D) Agbaig ©
RLS - 13 (Set - A) . &
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107) Who is the %%Wlfﬁk( %?g?gggt‘}on o
(A) Nitin Gadkari B
(C) Venkaiah Nayudu (D)

BREBAD B> PG MRS B LHH DD ?
(A) 288655 | (B)
(C) Bosan, meow (D)

disd b ) sXtE (©

108) Who is the new Prime Minister of Japan?
(A) Yosho Kama

Rajnath Singh

L.K. Advani
oeEd Lok
LK. omd. )
Cruae i L 2
Fiu B S (A)

(B) Yoshiko Noda

(€Y Yasuo Fukuda (D) Shinzo Abe
83D Ky B85 DERIB0HB DS ?
(A) DBrds sosm (B) o3nass S
(C) oHust Peom (D) 2os® &3 S 1 e Lo
s 2 (D) B2 (© 15552  (B) Wiy (A
109) Miss Universe 2012, Oliva Culpo belongs to which of the following countries?
(A) UK. (B) China ,
(Y USA. (D) Philipines

2012 Q08 0X0eDBE edam 565 808) 5783¢° B S5008 Boooe) ?

(A) opEE Bobis

B) g

©) o®oS.o (D) voRg
« Yo MU S5t W s g 2012
JE o) widy © & (B) L.y @

v

110) Who is the Director of Satish Dhavan space centre, Srihari Kota?

#f K. Radha Krishnan
(C) Kota Harinarayana

(B) M.Y.S. Prasad
(D) K. Narayana.

500 S50S5D DG tsS P owE BB B ?

(A) s RIS
() S30moeabts

(B) M.YS. STl
T (D) 8 meomave.

I IL P U e s S 2SS 48

JV{-JI_JU_ﬁ:J (B)
St L (D)
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111) BRICKS summit 2013 was recently held in .

(A) Moscow (By " Delht
(C) Hong Kong (D) Durban
2013 BRICKS 300 05530 085 208007
(A) &mids, (B) &8
(C) Sboseoh (D) &8s
fef uloeiig s’ F ¥BRICKS 2013
¢t (D) LKA © o (B) L (A)
112) Who is the Man of the series of recently held Border Gavaskar Trophy 20137
(A" Ravichandran Ashwin (B) Ravindra Jadeja
(C) M.S. Dhoni (D) Prgyan Ojha
250 208G e5EE-t5am,B, 2013 PHEF S5R® 8D O HEH BT
(A) BDBOLES 98D (B) &dHog aien
©) aBoa® & (D) Hrngh b

e Loat) z_’z[d,_jw:sfzoladn)fuf,;s)w'&f"u:uh,_w
Eagy (D) 2 A (© Lieikss BEAILBE  (A)

113) The Union Budget 2013-14 estimated a total expenditure of .

(A) 15.56 trillion rupees (B) 16.65 trillion rupees
(C) 18.65 trillion rupees (D) 19.26 trillion rupees
2013-14 Bog oFes B0 YD 0B BT oD ?
(A) 15.56 300D Eoaraben (B) 16.65 00k SRaRoDHD
(C) 18.65 BOQHS SwaroHen (D) 19.26 BOODHS ERPoDHO
IO el 1 A eSS £ 201314
43,0t 21665 (B) &ssuf2 21556 (A)
£o1eft 21926 (D) L1k 21865 (O
114) Zhuang Zedong, who died recently associated with which of the following?
(A)  Shuttle Badminton (B) Bilhiards
(C) Swimming (D) Table Tennis
2559 foBB0OS wa0b Swob §o8 wetse® 088 Koo BOB Golae)?
(A) GBS epB,00S (B) 0w |
() 80,06 (D) Fed G0
?lﬁau/ufdjbndw {jéJUIJJLi:L/Ufu;J.Jb
.5 > b i &
VLIV 17 © L ® ik @)
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115) Which of'the following were granted the Maharatna Status by the Union Government
of India of February 20137

(A) BHEL and GAIL (B) ONGC and GAIL
(C) ONGC and NTPC : (D) NTPC and BHEL
DRBHD 201365 Bogs HEHB,0 B TILY oD oS oddew D7
(A) D.3ed a0 sneoiv Sane (B) 2.08.82.% svoatn Sond
(C)  2.00.82.2 s0oai 0.3.0.0 (D} 08.63.3.2 ool 8.578.9.08.
SWis e WAL E A S U S AL b sse$ e PSS L 2013800
S s ®) Jd g @
disi€idorsddyr @ sl Gt (©
116) Who is appointed as the first Chief Justice of Meghalaya High court in March,
20137 '
(A) Justice Sada Shivam (B) Justice T. Meena Kumari
(C) Justice Radha Krishnan (D) Justice Rajesh Kumar Agarwal
50, 201368 Shgracsd 655 DD DODBTGTR DHE DADIEOOLLE?
(A) 20 dweaso: (B) a3% & Sorethosne
(C) 2R opegHS (D) 238 00ds 5506 oioeS
-gfgjﬁéa,a.;?Ju’b‘_g?,%.rf.gb)fé}.gbg‘g}:mB@A
AU B ce g A
di:ﬁ:b’uﬁuu‘t‘? (D) u.;/lﬂ)l;uj'? <. -
17) When 1s the International Mother Language day is celebrated?
(A) February 22 (B) February 24
(') February 21 (D) February 28
©oBRE0D SovE)EREP HFFBHO DD, BHYE 0P T
(A) BDade, »» (B) 3aso, 24
() dawo, 21 (D) D, 25’5%?“&*@@}6“”,;”,&(!
S 228 () S 221 (© Sss 224 (B) $s1 222 (A)
118) UN secretary General recently commemorated as Malala Day.
{A)Y November 05 (B) November 15
(') November 20 (D} November 10
20dde 5028 DENH ELO BB B 5% sneren OB BBO0TIE 7
(A) SHoob, o5 (B) ®odowb, 15
(C) sooab, o ; (12) &HDHo2bd, 10 _
| ul’b’rt“ju’rz”u)bf(é__d/‘:’.;dﬂ‘f,ﬂ;rj;l
2710 (D) A9 (C) 2915 (B) A5 (A)
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119) Light travels fastest through which of the following?

(A) Air (B) Water
(C) Diamond - ) Glass
5208 30 tHOowe BB0B S50 HOTRB0E ?
(A) o=® (B) &
) e ® ”?iiax NNy VAV SN AT
22 D) g (© 3 ® 5 (A)
120) Non stick éooking Utensils are coated with .
(A) Polystyrene  {B) Teflon
(C) PVC (D) Black paint
ARASYE Hoky sen & HrB Hrovad éibeaaan?
(A) 0338 ' (B) &ps
(C) PVC (D) ©g Bowoes
?“;b'tgy_f..bfc,.(/f/f;}rut
exSt O s © o ® gL W
121) The rate of evaporation decreases with :
A) increase of temperature - (B) increase in humidity
(C) increase of surface area (D) increase in wind speed
BDO TR0E,; BEOIDHE B S0P BEREHG G087
(A) &8s DSDS (B) 3o dense
(C) evos0 005 DHHS (D) 8 S50 BtHrdcse
?‘a,Jne:JLﬂgmfqu;’JcUB‘.
Juru:J (B) S Lens e (A)
SuttB.8 (D) SIS, (©
122) The unit of kinetic energy is same as that of
(A) Momcntum (B) Pressure
(C) Force 4D) Work
D98 s, DD o 530S FOD 5O Gotwod 7
(A) ofas0 (B) Deswsw
(€) eosw (D) & _
: ?cl.,dnd:v&(f(gjb’ufgjtl?d//?
e @ e © 55 (B) =7 @
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123) Electron volt is a unit of

(A) Magnetic force (B) Charge.
(C) Energy (D) Potential difference
030335 ey B8 HBRHANT?
(A) 0008 wosD (B) edaso
(C) <8 (D) es8o0S B
?{_.db/l,{ld/..‘)uul}gl
J/:f @ dwy (© Lk B =it @)
124) The weight of 400 gm stone is ‘
(A) 39N (B) 04N
(C) 0.041N | (D} 3920 N
400 Frwe TeaNBEIT) 0B ?
(A) 3.9 800,850 (B) 04 72,6950
(C) o0.041 mﬁm@' (D) 3920 & om0
-Esin¥ A o1 Sa00
S£3920 (D)  /£0.041 (C) ¢ £04 (B) S£39 (A)
125) The electromagnetic radiations used in RADAR are
(A) o -rays (B) Microwaves
(C) y-rays (D) X -rays
02868 a8 D BSOH,08 DBGePer o
(A) o - 88emen (B) DEISS
(C) Y - 8ezeen | (D) X - &6ezeen

e b I L K e 5P
SLSX D) LS © sl s S (a)

126) Centigrade and Fahrenheit scales give same reading at
Roe3gs Bvams H5SineS Hrmmen ot DR & 5655 2.8 Desd 598 doeron?

?uzLﬂUL‘g{d/fjJ(h‘MﬂUJBJ)'é/&%:

(A) ~40° | (B) -273°
(C) -100° (D) -32°
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127) Tartaric acid 1s the constituent of

(A) Washing powder (B) Plaster of pairs
(C) Bleaching powder (D) Baking powder
8RB exEn BOGP Bwg, riEn?

(A) a»208 08 (B) 250 ab >0d
(C) Pwob 2eub (D) &80 »a8

_4_;(:.,9(?15"/’}/.’1_&?;3
SE @ S © vsdTre ® 0 5Ln A

128) Which of the following is strong acid?

(A) Citric acid (B) Oxalic acid
(C) Nitric acid (D) Acetic acid
808 TR0 D& e BB ?

(A) 2¢35 essipsiw (B) s=298 exioso
(C) 335 oo (D) e85 expsn

-q..i:.‘""HIUi/gﬁdieu
Lt @) AASEE ©  KAUT B S @A)
129) The National Chemical Laboratory is situated in

‘(A) Pune - (B) Patna

(C) New Delhi (D) Hyderabad

&5 BNES ePTS DB SO T

(A) #»3 . (B) aeen .

- (© a8 D) 2eeb_ Suows pd S ¥

| Ao ©) Js§ © A ® SEFRNTN
130) Food cans are coated with tin and not with zinc because
(A) Zinc is less reactive than tin '
(B) Zinc 1s costlier than tin
(C) Zinc has a higher melting point than tin
(D) Zinc is more reactive than tin
ST DBOD BSOS e LR 50 BoKIER 56, DOLHBOES
(A) B0, 8550 508 BERD DBROGD OO $0BL0 BB
(B) a0% 86550 $0&5 8Z50 8508
(C) 2o, 8550 Bo&S D Toolh Ppanots 08 Godko Sl -

(D) 2305, 81550 08 HE,H HBVOEH KOB Hotso B

: ;:JJIW&JJ@L/@J&J/JJIJ

c".(:{ugic.:.d‘uf} (B) {_.dldfu(c.vf_fi (A)
eSmlied s @ @ eBfMFrieldd (©
33
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131) Major constituent of LPG is ; N
(A) Ethane (B) Butane

(C) Pentane | (D) None of these
. 2.2 E0P,07 BOD 5OB S0LOB ?
(A) 8335 (B) angs
(€) 2085 (D) 5o
-%/Jc'_—u/u‘l,.ia..g_./LPG
s e ) £ () i B A
~ 132) Which of the following is not an inert gas?
(A) Argon (B) Helium
(C) Bromine (D) Krypton
808 TS wETRAY) IO HOT?
(A) smS (B) &»dovo
258 ; ;
©) aos (D) &3S Y. PN NN
v/ (D) Flis (©) & ® T (A

133) Two elements X and Y have the same atomic mass but their atomic numbers are 20
and 21 respectively X and Y are

Sots Hameseen X 00k Y ev 28 ermanpssn SO8 S0, 3¢5 e HOY,LL KB 20
Sooow 21 oo ®od, X, Y o Hioosnth? '

(A) Isotones / @ry8es?xy (B) Isomers / ooty
(C) Isobars / edsent (D) Isotopes / odeszyen
-4"..L"LgL‘f‘_{f;’n'Zqu?DJl:ﬁ’/'-)l»'"dﬁﬁgfdld?uf/;ﬁtﬁ.{lYqu/‘Vn
9L T (D) AT (©) T (B) Ui T (A)

134) Oncology 1s the study of

(A) Buds : (B) Cancer
(C) Soil (D) Mammals
B0B0E BOD B5ODB0 BR008 7 |
(A) e (B) =0
(C) 083 (D) &soeen
- S LIGIET
el i basss (D) Ui (O ) Usiy (A
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135) Who won the Nobel prize for his work on photosynthesis?
(A} Melvin Calvin = '(B) M.D.Hatch (C) DI Arnon (D) V. Burmnell

8150 @30 OGRS FaDP FRD DO FBES 25BN D08 BB ?

(A) 200, 5085 (B) MD. 255 (C) DIl soxd (D) F ogs
oS ki L Sk A
Cdteeew @ G868 © BSIET B)  uabuk  (A)
136) A compound that is quickly absorbed through the walls of the stomachis .-
(A) Fat | (B) Protein (C) Sugar (D) Alcohol
& QOO B BtH8) B5506%8 08 00 7 _
(A) &%) (B) Seesso (C) =8y (D) ety
PN ST L T
) $¥ © Fry ® 4z @
137) What is the smallest of the White Blood Cells?
(A) Eosinophils (B) Basophils = (€) Limphocytes (D) Monocytes
8y UF St (308, 08 DY grtso DT
(A) =8pSen (B) endspden  (C) Dodbpiy (D) ans%
"c:.LJ/)h“”:;,u/u*ulrbﬁu:’w
Fuir o vesd o S S
138) Which harmone controls the levels of Calcium and Phosphate in the blood and
bone? . :
(/)}/Glucagon (BB) Parathormone (C) Cortisol (D) Aldostcrone
8B5S ooy g’ S99 b0 EOOH PSR RO D 655 DAHOBOO ?
(A)  esecnd (B) aroegand  (C) SO (D) BHNED
('C_L;Jfb }(LJJ[}JZ.J{!JJ[K’UUJ"J L gfu')’
s s 4T (D) JILE (©) s Fly (B) of¥F (A

139) Child marriage Restraint Act was first time introduced in India in the year
gPEBBI0S) exe), Hawse DEISS RO EA0EB0SEINON O DOBBE0N HBTDEDBE ?
VU’qu;b»Juu/lea,_/éﬁL L:'b /d.’(/d/u‘fu"ul/:y
(A) 1955 ) 1956 () 1929 (D) 1976
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140) Which of the following viruses is responsible for Mumps?

(A) Como virus (B} Klamath virus
(C) Paramyxo virus (D) Botrtis virus
8ot o3’ O Pen 55 YO RO T

(A) 8%3» 3B (B) eamd 360
(C) 2ncre08s 36 (D) eBe3es Pes

?q.fﬂ/UJ/(uﬁ'r_.Jbe/u’:djbu
TN (D) Uil © 0 UAW B Jihrd (A)

141) Who invented Rabies vaccine?

(A) Gail Borden (B) Benjamin Franklin

(C) Alexander Fleming (D) Louis Pasteur

RS am BB DB BROGRRD T

(A) Bond =89S, _ '(B) SBosdd 085

(C) o3mpoul Q&Jéﬁ (D) emond B teu S B

A @ LA o ey ®  oad @

142) Which of the following are known as Protective Foods?

(A) Vitamins (B) Proteins
(C) Mineral salts (D) Carbohydrates
B8 e85 Hrropen O Bod e3st HiS0 woerto?
(A) obaoxy (B) spelsy
(C) oodts g - (D) =0irge
- TQJMr?’JLwU%W(f/UfJJCu
K D) L © Fig ® St (A)
143) Quartz is chemically which one of the following?
(A) Calcium silicate (B) Silicon oxide
(C) Sodium sulphate (D) Calcium sulphate
EOHOBOm 52 B30 oo 0S8 JO T
(A) =pavo DB (B) %95 636
(C) &s&ovo as§e5 ' (D) somo DS
Cebd 3T fut S

L D) sikdly ©  #VTug ® <A @)
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144) Aspirin is chemically which one of the following?

(A) Sodium azide QB”)/ Acetylsalicylic acid
(C) Sodium silicylate , (D) Ethylsalicylate
BRoHOBom QS?\@)(S 808 o3 DOT?

(A) dano 936 (B) D28erdSEE esdpsin
(C) dsdano O3S (D) 5335 DTS

?(‘_gu:J"jz-,ucj_;l,;MJ_yf
S 0 ey LR e ® U @)

145) Fatigue is caused due to the deficiency of

¢#) Biotin (B) Calcjium
(C) Sodium (D) None of these
DO 08 T3 BO D0 HODH ZetHBI0N?
(A) 23ne3S (B) =9oxo
(C) #8avo | (D) 8% e dne S SU et
S e O fir © @) LV (@A)
146) Usually, Tsunami waves travel at a speed of kilometers per hour.

APeSE0T KoTedd BEOmRED (ot 0§ 8E°EuY Se508° Harmo BRan?
: "c;_aﬂ,blréﬁf ...... JD{Ju:jédtr.gubrh
(A) 100-200 (&) 200-400 (C) 400-600 (D) 600-800
147) What is the approximate speed of earth’s rotation? (in km/hrs)
lRgfkine0 O30, HOBRD i50 o8 (88 /o).

(F3 2 K)o Gl ¥ SBE0 S St

(A) 1510 (B) 1770 «) 1670 (D) 1870
148) Nepiune has atmosphere similar to that of ;
(A) Saturn By Uranus (C) Jupiter (D) Mars
FRIPOY 68) Domstts0 B0 sREH S HEFRDOT GOV T
(A) & (B) arodsh (C) o . (D) somii
?‘:_.t'nJ L{'tf-uffg;bjlﬂ{u:?’
s © §” © iy ®) VSR

149) What is the difference of time between GMT and IST?
GMT 8, IST 8 5065, D08 DauoHo Bae 608 7 (HSowed?)

‘ (ufu;:f)-d‘.—l':fg}/.’ﬁ/.::’m)?uccIST/;IGMT
1 1 H
(A) 65‘ (B) 4 (9)/45 (D) 55
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150) The Paithan (Jayakwadi) Hydro-clectric project completed with the help of Japan is
onthecriver |
(A) Ganga (B) (Godavari (C) Narmada (B) Cauvery
BaRS HIBODHOS® P Bovasds DR (B8aDEREG) @0 DS L & SO God?
(A) o6 (B) 6&%cese (C) »5s (D) seale
_Lfll:qd‘&'u/.b-,cl{._f/’glu [,(d:bJL?)UlftUUL.ﬂJ[c_u ul.(a

S8 (D) 14’ (C) S5 (B) ¢ (A

151) What is the increase in the percent of population of India from 2001 to 2011 census?
2011 &79g» 65&0 LS00, g B BrreR Do T80 BORC 7T (2001 BeERES éﬁﬁ&é@tﬁa)
ln.!l.aul’(_‘f;ﬂd.vtl JUV;MJWLUJP:IJIQDOLZOII

(A) 17.19 (B) 16.64 «© 18.12 (D) 17.64
152) Which of the following crops needs maximum water per hectare?
Sugar cane (B) Wheat (C) Maize (D) Barley
808 5358 B HOWD, B IPGK D HK BBHB0 7
(A) Beotd (B) &%0s (C) Boosery (D) and
' ?.«!-_Jnau/-"J&guya,np).G'Ja&.’U‘iJJJ";'z-,u
42 (D) & © urd ® £ @
153) What,is blue revolution?
(A) Commercial crop production (B) Bluc drug production
(C) Bluc metal production AD) Fish production
DO DDBO WOLS DAL ?
(A) @ode, Hote (iié?é% ' (B) %9 moohe 685
(C) 29 S%n e88 (D) <o e85y ?‘,;._lzf‘_'_’u;}‘uf
MgdeBl L B) Jn,r&&)‘;é,t; (A)
migddE O nn,_gJ_-,thfJéi_ ©)
154) Indian railways factory - Dicsel Component Works (DCW)is locatedat .
(A) Pcrambur (B) Patiala (C¥ " Varanasi D) Kapurthala
3Rt 3, Bop,meUsn - Sed g Heriisn (DCW) DS GO T
(A) Bommth (B) aoSame (C) Gd (D) Bpve
S'..f_,(‘;uutfr Kb’,fmd;s,d;?a_:bq};
TN ) St (C) U ® E (A
RLS - 13 (Set - A) | o8
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155) When did constitucnt Assembly adopt Indian National Flag?

(A) 22 QOctober, 1947 (B) 22" June, 1947
(C) 22 July, 1947 | @) 22" January, 1947
2G5 apdad DS TpaR;0f HOVK) VB BIROODOO?

(A) o556 22, 1947 (B) aedep, 19ar

(C) @822, 1947 (D) s 22, 1947

-L%lJ[K{d}GPJde{'UP/;‘)
19475222 (D) 1947JU:?22 (C) 1947222 (B) 1947 122 (A)

156) According to Indian constitution, how many kinds of emergencics arc there?
BRBE 0eaR005 DO DY B0 DB GRROD 7
bwr; & =}

(A) Three / st : (B) Two /3o
(C) Four/ meentH (D) Five/ ot
e G L E S £ T s 41

&

(D) /b (©) 53 (B) S (A)

157) What is dealt within the Part 1V of Indian constitution?
(A) Directive principles of state policy
(B) Fundamental Rights ’
(C) Citizenship
(D) Fundamental duties

gREE 0oan.0t506° TP 8BRS0 KO8 HODOHOVCE ?

(A)  oeg Dprmwe SB33Y HreEeen (B) o508 doeten
(C) ;8,0 (D) pcgos deden
OF$l (B) Jfﬂ;ngLJiJg&gJ (A)
FII68 D) w0
158) Who was the first chairman of the Planning Commission?
(A) B.R. Ambedkar (B) K C. Pant
(C) Chakravarti _ (D) Jawaharlal Nehru
DEBE DOLO DD O HIBD? |
(A) &85 9055 (B) 82 dos
(C) w850 (D) a@debend SHae
v g s a_{"_; G g uﬁ:j s ik
sz (D) doik (© AL ® Skl o
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159) Who was the president of India when National Emergency was declared in 19757

. (A) V.V. Giri (B) Neelam Sanjeeva Reddy
{(C) Fakruddin Ali Ahmed (D) Gyant Zail Singh
197568 anBah 88,008 18 (DETDID HEBODTDD 405 COFOB DS
(A) 2.9 8o (B) deo doeds 3¢
(C) 250 80 @in,d (D) apd @dd0b

“&uf:yﬁuvjy_m&d’/u’flsiﬁ

EUidS o adgdsf © S E ® S @)
160) Which of the following events compelled Gandhiji to launch the Civil Disobedience

Movement? ,
(4) Jalianwala Bagh massacre (B) Rowlatt Act
(C) Chauri Chaura incident (ID) None of these
RO HIFOD OSSR B350 FPL0PNOWEOE O Fobid BOOT EGRSHEOR T
(A) 2DaDS aoer eRd 85D0sBE0 (B) B <Sso
(C) Sfo 6 o0 (D) Dbz
?cfmrf/a,,.uf'.f/‘ Mt & 3G
oLty (B) ruf{, Uheike  (A)
S o Sz (©

’

161) Which Article of Indian Constitution forbids Child labour?
GREE CoaR B0 O BOES eROSR,HO DAPOVOR?

U(Jﬁ bd}«ﬁ/dz:)/juféﬁﬁjlujﬁy;r:

(A) 28 (B) 36 (C) 24 D) 18
162) The tenure of the Rajya Sabha member is
(A) 2 Years (BY" Permanent (C) 5 Years (D) 6 Years
028357085 020D DEHSL0 OB 7
(A)y 2 ‘r()o‘cﬁ%caep' (B) @0 (C) 5 0oHBTen (13)  6oos8uen
_ ,q_JnJ/m;»JJ,w.gr,
Ju6 (D) Jus © So® Jrz2 (@A)
163) The term ‘democracy’ is derived from which of the following languages?
(A) Greek (B) French ‘ (C) German (D)} Spanish
‘BRRED” B HE50 O g1 o0& DORIPOWBDEON 7
(A) &% (B) 3o (C) a5 (D) 08
ce e ppLed S
& gz (© &) ® Uty (A
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164) According to census-2011, what is the literacy percent among women in Andhra
Pradesh?
2011 8RR 850 HSG0 esoggiﬁrgé‘s Sodrw BET) B B0 OB T

~e AKJ;I}o;Jofs}pcu‘fJ{i/ﬂJLd:t’(;/Jzou.

(A) 67.66 (B) 59.74 (C) 57.56 (D) 63.38
165) Brahmaputra enters India first at ' :
(A) Arunachal pradesh (B) Tripura
(C) Assam (D) Meghalaya
ePEEB TS pEREDE BokBtitd DEYE IS0 T
(A) ®BmSS HOS (B) 808
(C) odp (D) Sogwecd
S n S U et Ui s
JUE (D) T © s (B St (A
166) The Eastern Ghats and the Western Ghats meet at .
(A) Vindhya Hills ~ (B) Sahyadr Hills
(C) Aravali Hills (D) Niligir: Hills
BRE) B0, DAL BXOIT0N0 DB Benaran ?
(A) o, Bdgmeen ‘\ (B) %ai8e dEmeen
(C) ems8 HEmoe (D) dodo dumen . .
® NI Ay ARG Yy

U & @ okl © . UGty ®  ulilgkss @)
167) Indirasagar dam is built on which of the following rivers?

(A) Mahanadi (B) Chambal
(C) Narmada (D) Yamuna
R0CHHIE w55 Bot) e & HO @ Bhodod?
(A) Bos50 | (B) Sows
(C) B65 (D) oPSDS
. Wiy S5 S
w © 1/ (© ' ®) Sile (A

168) When was Reserve Bank of India was established?

o6, 22,05 8D RGP DD PHOWBDHORT . .
o =0 o T Ut S B LET sy

(A) 1934 | (B) 1935
(C) 1937 (D) 1950
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169) Who is known as the father of Indian Civil aviation?

(A) J.R.D Tata | (B) Abdul Kalam
(C) Vikram Sarabhai : (D) Satish Dhawan
2RGB o8 DEPSOIRS DEeTWGETe DD FODK TGN ?
" (A) JRDeren (B) wed sond
(C) 50 Jeoeepaw (D) 288 pesd _
el LTSy nd Ao s
gises ) dunirSs (© cWI (B) bdLT (A

170) National Sample Survey Organisation (NSSO) was cstablishedin -
J0S 500 00, siRdad (NSSO) 0, pdotsadon ?
| _LTJ:J’JrgK(NSSO)ﬁy’%Ta_,/J:{J*'
(A) 1950 (B) 1951 (C) 1949 (D) 1952

171) The Tenth Five year plan period started from
DD HOHE, HEPBE D VOSEG0S? PP SEON? b p S S U
(A) 1992 (B) 2002 NL997 (D) 2007
172) The Pallavas ruled from _ , _
(A) Madurai (B) Tiruchendur (C) Tanjore . (D) Kanchipuram
DYHO0 D D0 DOROOTIUD ? '
(A) =003 (B) 8tH3o&nb (C) sospgpdd (D) seodHvo
| o -JCJ;’G',;«-:-UQQ—U?';&
ru;J:b’ D) L ni2d;  (B) Sroa ()
173) Sri Krishna Devaraya maintained friendly relations withthe .
(A) Bntish (B) Dutch ‘ (C) Portuguese (D) French
8 5% BHoRAHEN DHOES RQET HODOGROL SXGIBOTE T
(A) 289 (B) &S (C) 60 (D) oo
?é;éfgaw;?:)cﬂ//i_é_lﬂg)ﬁ/d/
Ji o J&; © & ® Fio@
174) Indian Classical Dance has been popularised abroadby .
(A) Gopi Krishna (B) Uday Shankar
(C) Yamini Krishna Murthy (D) Malaika Arora
gREE T §Ee0s HD T FPut.0 EHOD TBHE 7
(A) 6%%5 (B) &50D Josb
(C)  ofead gi@ &g (D) o850 o680

?JU:af.{_J{uch)J/jy’/dlhﬁ’Lf(.}P)M_
aal © darrSE © Fowm ® EPRYENIN'
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175) Who was the first Indian to be selected to the British Parliament?

(A) Lala Lajpat Rai (B) Bipin Chandrapal
(C) Dadabhat Naoroji ' (D) GK. Gokhale
258 PO DoDY Sonalg FohBnese erEBoEHt?

(A) ereroasnd oeaD (B) 2238 Sogards

(C) wecwarown §26%8 (D) GK. 6398

?uguf&t'/mégc,__/é_ui.ng? c_.c._-??JQ#rut.:.viJ‘trJ)/.
L3 ) Eridunn (© g gd B) Lleddl (A
176) Who among the following drafted the resolution of fundamental rights for the Karachi

scssion of Congress in 19317 :
(A) Sardar Patel (B) Dr. B.R. Ambedkar

(C) Jawaharlal Nchru (D) Dr. Rajendra Prasad

193168 52080 TR0, Boed) HERBH0S Forsaus 55,0 H0p,55) HNVNED BATD S
0D T _

(A) %035 DS | (B) @ 2.ab. 008s,5

(C) 2d:nberd 3w (D) . o2dosnrrd

UJJELJKJU;I;JJPJJHU:J{(XF/Lj;ﬁﬂrl%l
g5 @) sedugz © SenTdSs m Jﬁ;n,/ (A)

177) Who was the founder of “Chola Dynasty™? v
(A) Rajendra-I (13) Dantidurg (C) Balban (D) Vijayalaya
Sy BOFYY APBOLD &RCSD 7
(A) mdog-1 (B) 608626 (C) engb (D) Dzcnead
' _ _liufd;b’uuwfg
Vs (D) o © TG @ sl (A
178} Who brought Islam first time to India?
(A) Khaljis (B) Slave rulcrs (C) Arabs . (D) Turks
QP0OD 6BSH0S Ssedeen B20EVYH aTBEH?
(A) &8 (B) endd oo () esapen (D) @oten
' NEP Y Py IS o
G ) /(O gL eI (B) £ ow

179) The title of “Viceroy’ was added to the office of the Governor General of India for
the firsttimein |
BB 1556 @ 0308, DL BoSSIOM Bgeow O DK DD, 38 {:Sraacb?.
_l:*::"U....f.z? PERNDL Y S AR ) "4}.’J.£J/'2}/f’d{?1ﬁf
(A) 1848 (B) 1858 (211856 (D) 1862
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180) The most common crime mentioned in Rigveda was
%) Cattle-Lifting (B) Kidnapping  (C) Murder (D) Rape
tHTt508° 98,08 JERGHHONH BEOm DEYHEDE DOT

(A) DODo GPoddosto (B) 8wz
(C) s, (D) 8008050 _ s S 20k o anS
dire (D) J (o aF @) Wiy @)

181) Tipu Sultan was the rulerof .
(A) Madurai (I3) Vijayanagar (&) llyderabad (D) Mysorc

&30, oenin B DOVDOE T

<3 ;
(A) g3 (B) DescH5es6 (C) gorpend (D) gboaxeb ‘
BULE U
s (D) AT (©) ft_».; (B) Sirs @A)

182) Tulasidas, the author of Ramcharit manas, was a contcmporary of which of the
* following rulers?

(A) Akbar (B) Shajahan (C) Humayun (D) Sher Shah Suri
DR SDB BIDVD BDOOD BV BoDTRO DO DS ?
(A) o855 (B) apassss (C) swsmotod (D) 26 &p 00d
_E S ar L g/uuu’r._j:ﬂfél,tu;,gl.u
Sirolt 2 (D) Ut (©) UEE @) Aw
183) Ilazara Ramaswamy, Vitala swamy temples were builtby
(A) Prataparudra Deva (B) Ravi Varma - |
(C) Sri Krishna Devaraya (ID) Chattrapati Shivaj
R0 DREDARED, HEOVREL SOOI DO 38 DY,0BOLRON ?
(A) Dot B (B) ©250, -1
(C) &83 BSoeahHen (D) w808 dswe

-Ll:fﬁpLufx:l?dlfmﬁ'ndlrl.bbl,&
ALY A DYt TS o () Joicbaades B) ilsg by (A)
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184) Ramakrishna mission was founded by
(A) Rama Krishna Parmahamsa (B) Swami Virajananda
(C) Swami Shivananda (D) Swami Vivckananda

Oaé)"?i)‘ég EOEOR DB @33)0{33(50?
(A)  oesuER HEEER0D (B) &0 doeassots

(C) ®oygn B0 (D) &R a0 DB5D0E LSl

SGndly @) Sy (€ 1Fbidly (B) Ll UL A

185) Which of the following Arts got inspiration from Jain religion?

(A) Gandhara (B) Mathura (C) Sunga (ID) Nonc of these
& EB0 KOG DB J0RD EE BT
(A) mmopes (B) sogs : (C) oot (D) 8=t
LLFE TS LS e it
Hd ey o ¢r (© S m =il (A
186) Sisir Kumar Ghosh was the editorof .
(A) Anand Bazar Pathrika (B) Amruth Bazar Pathrika
(C) Gana Shaku (D) Bartaman Pathrika
6 BB Hh B HBSL PODSHE? .
(A) 8505 wepb DY (B) ox wapb 088
(C) | t5easB (D) atHng H85 _é,/’:é!LJ'IJstLf/-’
g RV (D) J%f ©  GasAEs st (B GELET (A
187) The partition of Bengal was inade in 1905 by o
(A) Lord Curzon (B) Charles Canning
(C) Lord Chelmsford (D) Charles IHardinge
19058 éoeﬁé%déeﬁ‘s Borrd DD DS DT
(A) eoB5ES  (1B) g 52008 (C) b 353995 (D) S Digos
Lo St s

J’jﬁdﬂg (D) 58550 (© ..ﬁﬁ/;g (B) Wi (A

188) Vascoda Gama belonged to which of the following countrics?

(A) laly (B) I'inland (C) Portugal (D) Poland
OR6 08 (TR O 3&"@8(@? .
(A) @8d (B) Bapos (C) S (D) 258086
- IS N I (Ll
e W) JEs (© Wy @) Frow
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189) Jaliyanwala Bagh was in

(A) Jalandhar (B) Ludhiana (C) Patiala (¥ Amritsar
. mdanSarerand & He560e8 oBR7?
(A) @000 (B) axnoinoe (C) aneIoImer (D) o53806
WU L
A, D) JE (© “2d (B) s (A)
190) On which occation the slogan ‘Nagpur Chalo” was raised?
(£) Non cooperation movement (B) Quit India movement
(C) Dandi March (D) Jhanda Satyagrah
‘bR 5 98 daRo & VoL REWEODT
(A) QP50H DUBL SO0 (B) 8,65 @0ba» 6tizo
(C) o0& &8, (D) s0me dmeydanain
- Voo P8R A
\.._ff“u}ﬂ.’ul?uk (B) U’l’-’r"‘v{/; (A)
. o/ F1id (D) | BASES (©
© 191) Who was clected as the permanent president of the Muslim League in 19087
(A) AgaKhan (B) Nawab Salimullah
(C) Syed Ahmad Khan : (¥ Syed Amir Ali
19085 HOBESOS® S0ROHE CI0E, TS BGEHEMT S BOTHT
(A) o gpd ' (B) aneS dswer
(C) RHonbd osR,b oS (D) ©on b omob 6d
| 2 S ar LD 1908
Feir © s © Aot ®) UBET  (A)

192) Who authored “‘Unhappy India™?

(A) Dadabhai Naoroji (B) Lala Lajpat Rai
jQ)/ Surendranath Bannerji (D) Bal Gangadhar Tilak
“Od DB RGO D DD TR T

(A) wRowROD 3°6%:3 (B) epepozdd 020D

(C) wwlogard 859 (D) ewe Somgs 805 -

St e LUkl
Iy ) Ay (O Laddl @) G dduin (@),
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193) What is the approxinate Muslim population in India? (As per 2011 census)
QBT RGBT BP0 BiTesR DOB FBO S0O?
'-g.w‘.:iZf)!ild)l_,l’fj/J‘.’ul?:h&l&'&d;%e;lﬁlm"
(A) 8%-10% (B) 10%-12%
(C) 13%-15% (D) 16%- 18%

194) What was the capital of Vishnu Kundins?

(A) Undavalli (B) Mogalraja puram
(C) Srisailam (D) Denduluru
ip BB TR HO? '
(A) ®0&EHH - (B) aotsepamyto
(C) $8w0 ' (D) BotvesstnH
| _BU e Ao,
38143 (D) f‘:d/ (©) p,g:,ud’" (B) datssl (A
195) Under whose reeling Marco polo visited Motupalli?
(A) Beta Raju (B) Rudrama Devi
(C) Prola Raju (D) Ganapati Deva
DO PV S0 HNRGEE BeeHHD DOLBB,0ERE 7
- (A) Bsoew (B) o@s0dd
(C) Dbooeer (D) Gends dHtod
Jdlfuuﬂk?r.’...J’.(f;l.u‘-'../)‘u:cﬁ‘,/
lg.’JJ?( D) 214854 (C) | Sgobass  (B) 2k (A)
196) Who authored Pakudurallu novel? _
(A) Rayaprolu Subba Rao (B) Devulapalli Krishna Sastry

(C) Kattamanchi RamaLinga Reddy (D) Ravuri Bharadwaja -
éﬁnéacfomf%.‘{) SO0V OBBED T _
(A)  coansen Koepoe) (B) Bpeosy ggoy
(C) shEnow oesdom3d (D) oegre 2tSere
_uju;’/J"’L Jst ”Jum{"
S e S B | S Aaglls (A
s A Sl (D) dé;bﬁltijfc" ©
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197) Who was the founder of colloguial language movement in Telugu?

(A) Gidugu Rama Murthy (B) Kandukurt Vireshalingam
(C) Chalam , (D) Ravi Sastri
BenrHE® D DIIOS gL FPDS B D7
(A)  Beboeh ocedvaiong (B) sowgre HTWatso
(C) <seoo (D) vawy
| Wl Sutidedis
(@w{,djfﬂ (B) S 1 (.
S S ) T
198) The first colour cinema in Indiais
(&y Alam Ara (BB) Raja Harischandra
(C) Kisankanya (D) Pather Panchali
aREBEH0T S Sothe DBO DOT
(A) =0 soe (B) oean se0d0gs
(C) &8s 85 (D) 236 apowed
‘ i’ﬁ;u'w:(Uﬁ‘d.f;&.fc,wJut}'u

dl__g'r/? o .[:fff/ (©) lu:gﬁ/;,?;, ) ,,L,TH{‘ (£

199) The right to property was removed through which constitutional Amendment.
DL & 0I5 DB T, FOR0ED 7

?Q’L)&J&F}J{J;}JJG’:lgl

(A) 40 (B) 42 (C) 46 (I 44
200) Where is Ramappa temple located?

(A) Karimnagar Dt. (By™ Warangal Dt.

(C) Krishna Dt. _ (D)  Adilabad Dt.

09E0%) (D& e GO ?

(A) 880G eep (B) &dotse sep

(C) Z3paen (D) eesend e,

..g.(‘j Uutffj,&'-* iz

FTUsl (D) S SR BT @

+ 4+
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